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BHBEERER EBEEERSLE

% # s - BRHE By ¥ B i & & 1
EEREE 7,275,552
MERAEE 7,218,079
HRE 14,491,631 x 64.7% — 9,716 9, 366, 369
— AR ERE 7,275,552 + 7,218,079 + 9, 366, 369 23, 860, 000
BRI 1,254,580 + 19, 798 1,274,378
EEAGE 1,254,580
EEEE 19,798
T O fth R 1,254,580 x 53.86% ( 36% + (1 — 35%)) 675, 591
RHRIE 1,274,378 + 675, 591 1,949, 969
—REERE 1,949,969 x 53.85% ( 35% = (1 — 35% ) ) — 27 1,050, 031
BRNEREERE 1,949,969 + 1,050, 031 3, 000, 000
REEBE 23,860,000 + 3,000, 000 26, 860, 000
EREISE 137,783
MiEIR#E 115,427 + 64,948 180, 375
£BREE GDH 102,379 + 13,048 115, 427
#BREE (BLE) 102, 379
HBERFZE (X)) 137,783 x 9.47% (7.97% x1.00 +1.50%) 13,048
RigEEE 253,210 x 25.65% (24.65% +1.00%) 64,948




BHBEERER EBEEERSLE

% # s - BRHE By ¥ B i & & 1
—REEEE 318,158 x 23.81% (23.57% x 1.01) — 3,911 71,842
BKRETEME 137,783 + 180,375 + 71,842 390, 000
B EHEAE 26,860,000 + 390, 000 27, 250, 000
HEREHELE 27,250,000 x 10.00% 2,725,000
FEISE 29,975, 000




SHEERNRE EBAEFRELERE
£ g Fg - BRKsTE Bify = il * & =
HEE 15, 768, 009
TEREEHR 15, 768, 009
[CREHEES 7,275, 552
EERE 7,228, 552
K=y >d 2,294, 338
1-1BER—-U25 #tEL - VL. @ 116mm, 50mEl_E ~80mk i 38.00 28, 796 1,094, 248
m
1-2 s B8ER—1) 5 &L, ¢116mm, 50mLd £ ~80mEK i 4.50 34,777 156, 496
m
1-3 @LER—U 2T LEEYLEF. ¢116mm, 50mLL E ~80mki# 8.00 56, 386 451, 088
m
-4 s BER—1) 25 #tEL - L b @ 86mm, 50mLL_E ~80mk 5.50 27, 852 153, 186
m
1-5 i BER—) T - &L, H86mm, 50mLl_E ~80mEH 1.50 32,320 48, 480
m
1-6 ER—1) Y LEEYLEF., ¢86mm, 50mLl Lt ~80mkiw 8.00 48, 855 390, 840
m
R B AR BR 1,534,016
1-7 R ERER (B LET) ZAEBARR : AL - DLk 22.00 19,670 432, 740
[
1-8 BRI ERER (B LET) ZEFARR B -BELX 5.00 21,088 105, 440
[
1-9 R ERER (B LET) ZEBEASRR . LXREY LR 11.00 25, 256 271, 816
[
1-10 P - S#&fE (BL) 60. 00 7,397 443, 820
m
1-11 BE®E (8L) 60. 00 4,570 274, 200
m
ER O P RE € 2521: 924,128




BHEENRE BBEE ARSI ERE
£ b3 R - Bikstik B 2 i & % i)

1-12 AL VRHEERGELEET) D—2 U —XZEE. #EL - Ik 16. 00 57,758 924, 128

A
TEHER 1,917,930
1-13 MEKER 1.00 830, 930 830, 930

=
1-14 HEHER 1.00 1,087, 000 1,087, 000

=
R 373, 790
1-15 |ESERE (EERE) 1.00 273, 790 273, 790

=
1-16 ¥HEHER M 1.00 100, 000 100, 000

=
g - |mE 184, 350
1-17 ERiIHRE 1.00 89, 650 89, 650

[a]
1-18 HfEH®E 1.00 47,350 47,350

[a]
1-19 REE{E 1.00 47,350 47, 350

[a]
EERE 47,000
ELhBRERT I R—AREE 2,000
1-20 EXHBERT —FIN—AREE 1.00 2,000 2,000

=
HEIREE 45,000
1-21 BEIRAEE 1.00 45,000 45,000

=
RERE 7,218,079
RERE 7,218,079




BHEENRE BBEE SRS TES
# o 1 - IR B ; i @ B E
b2} 420, 850
1-22 FEHER .00 420, 850 420, 850
=
fIER= 79, 773
1-23 fiER=E GBL) .00 79,773 79, 773
i 25
25 3,692, 553
1-24 RIGHMIEE (R/Xy MEHR) EL .00 651, 591 651, 591
#
1-25 BIGHE (R/\y FEMR) EL .00 275, 081 275, 081
&
1-26 RiG#EE (R/8y L&) b .00 275, 081 275, 081
&
1-27 ### (R/8y FEM) .00 2,490, 800 2,490, 800
=
E ik 2,876, 498
1-28 @M - XBE B .00 2,203,474 2,203,474
=
1-29 #4+8i (R/Xv FER) ELE .00 446, 556 446, 556
=
1-30 #HEHGGR—1) > F<T ) .00 166, 546 166, 546
=
1-31 FHEhER .00 59, 922 59,922
=
S 64, 310
1-32 STiF4Z - BHITHIFEE .00 64,310 64, 310
=
XE - BERR 33, 181
1-33 KEREH .00 4,545 4,545
=




BHHEENRE EREEEESLERE

% R Big - MAKTHE BfL % 8 B ' # =

1-34 {GEREH 1.00 28,636 28, 636

=
EIERE 50, 914
1-35 ETEEE 1.00 50,914 50,914

=
BT ERERS 1,274,378
BT EREES 1,274,378
RITERAE 86, 843
1-36 BIFERINE - RiAE 1.00 86, 843 86, 843

=
R ERERR 1,187,535
1-37 EHBE LY FLH BENFED 1.00 60, 818 60, 818

=
1-38 W E X% O 1R RL (BR AT % 75) 1.00 61,717 61,717

=
1-39 #REMTERIT BRI ER) 1.00 622, 200 622, 200

=
1-40 P - SiEfERLR 60. 00 5,051 303, 060

m
1-41 ZmEERBHEE 60. 00 2,329 139, 740

m
EETIEE 137,783
BKEEER 137,783
BKEEER 137,783
BKERE 133, 683
B 8,239




BHHEENRE EREEEESLERE
2 o K - R B ! i # ]
2-1 BiE 1.00 8,239 8, 239
5

BKEEE 13, 588
2-2 EBKIEE 79.00 172 13, 588

m2
BER 111, 856
2-3 MEEERK 1.00 111, 856 111, 856

E=y
EERE 4,100
o3 4,100
2-4 EHFERER 1.00 4,100 4,100

=
H@ERSRE FEL) 102, 379
HERERE 102, 379
ZeE 95,107
ZEXE 95,107
2-5 RELEHRM 1.00 95,107 95,107

=
XE - BEZRRHE 7,272
KERRH 4,545
2-6 KERBH 1.00 4,545 4,545

=
BEREH 2,727
2-71 BEREH 1.00 2,727 2,727




RER-FET/\vr— BBEEEEETERE
H55:1-1
& EmLER—1) T HMEL - DIk, d116mm, 50mLl_E ~80mk i 1BHY (5.6m)
2 7 B - R Bif B i i w = B =
G I A=) 5. SkW#k
H 1.00 11, 520. 00 11, 520|8H
WERERE
A 1.00 53, 200. 00 53, 200
IERERES
A 1.00 41, 500. 00 41, 500
WERER
A 1.50 31, 400. 00 47,100
HHH TERER
% 5.60 141, 800. 00 7,940
= H {E%8eH : 5.60m 28, 796. 00 161, 260
B#5 .12
ZWM  BER—ULS B -EL. ¢116mm, 50mLl_E~80mkKiH 1B&Y (4.8m)
2 m 1B - R By B 1 i = % =
wrR—=yoo<s 5. SkW#k
H 1.00 11, 520. 00 11, 520|8H
WE AR
A 1.00 53, 200. 00 53, 200
IEHERES
A 1.00 41, 500. 00 41, 500
WERES
A 1.50 31, 400. 00 47,100
HH R TERER
% 9.60 141, 800. 00 13,612
=) it 1E¥8E5 : 4.80m 34,7717.00 166, 932




RER-FET/\vr— BBEEEEETERE
&5 :1-3
&% mER—Y s LEBYER. ¢116mm. 50mblt ~80mski 1H4Y (3.3m)
2 7 B - R Bif B B @ i w = B =
G I A=) 5. SkW#k
H 1.00 11, 520. 00 11, 520|8H
WERERE
A 1.00 53, 200. 00 53, 200
IERERES
A 1.00 41, 500. 00 41, 500
WERER
A 1.50 31, 400. 00 47,100
HHH TERER
% 23.10 141, 800. 00 32,755
= H 1E¥85eH : 3.30m 56, 386. 00 186, 075
BEE5 .14
&2 BER—) T HHEELX - DIL k. d86mm. 50mLL_E ~80mkK i 1B&Y (5.8m)
2 m 1B - R By B B ff 58 = % =
wrR—=yoo<s 5. SkW#k
H 1.00 11, 520. 00 11, 520|8H
WE AR
A 1.00 53, 200. 00 53, 200
IEHERES
A 1.00 41, 500. 00 41, 500
WERES
A 1.50 31, 400. 00 47,100
HH R TERER
% 5. 80 141, 800. 00 8, 224
=) it 1E¥8E75 : 5.80m 217, 852.00 161, 544




RER-FET/\vr— BBEEEEETERE
&5 :1-5
& BER—Y) VY ®-ELE. $86mm. 50mLlE~80mkH 1BHY (5.2m)
2 7 B - R Bif B B @ i w = B =
G I A=) 5. SkW#k
H 1.00 11, 520. 00 11, 520|8H
WERERE
A 1.00 53, 200. 00 53, 200
IERERES
A 1.00 41, 500. 00 41, 500
WERER
A 1.50 31, 400. 00 47,100
HHH TERER
% 10. 40 141, 800. 00 14, 747
= H 1E%8eH :5.20m 32, 320. 00 168, 067
E5 :1-6
&% BER—ULY LFREYLR. ¢86mm, 50milk~80mkiH 1H%Y (3.8m)
2 m 1B - R By B B ff 58 = % =
wrR—=yoo<s 5. SkW#k
H 1.00 11, 520. 00 11, 520|8H
WE AR
A 1.00 53, 200. 00 53, 200
IEHERES
A 1.00 41, 500. 00 41, 500
WERES
A 1.50 31, 400. 00 47,100
HH R TERER
% 22.80 141, 800. 00 32, 330
=) it 1E¥8E5 : 3.80m 48, 855. 00 185, 650




RER-FET/\vr— BBEEEEETERE
&5 1-7
2% BEERRCGELRT) EEEARR ¥t - Lk 1B%Y (8. 4ME)
2 7 B - R Bif B i i w = B =
G I A=) 5. SkW#k
H 1.00 11, 520. 00 11, 520|8H
WERERE
A 1.00 53, 200. 00 53, 200
IERERES
A 1.00 41, 500. 00 41, 500
WERER
A 1.50 31, 400. 00 47,100
HHH TERER
% 8.40 141, 800. 00 11,911
= H YEZEREN : 8. 40[H 19, 670. 00 165, 231
E#5 :1-8
2% BUBRRCELET) EEEARR - HEL 1B%Y (8. 4@)
2 m 1B - R By B 1 i = % =
wrR—=yoo<s 5. SkW#k
H 1.00 11, 520. 00 11, 520|8H
WE AR
A 1.00 53, 200. 00 53, 200
IEHERES
A 1.00 41, 500. 00 41, 500
WERES
A 1.50 31, 400. 00 47,100
HH R TERER
% 16. 80 141, 800. 00 23, 822
=) it YEZERES : 8. 40[=] 21,088. 00 177,142




RER-FET/\vr— BBEEEEETERE
&5 :1-9
2% RUBERRGELRT) EEEARR: LYEYLIH 1B%Y (7.3@)
2 7 B - R Bif B i i w = B =
G I A=) 5. SkW#k
H 1.00 11, 520. 00 11, 520|8H
WERERE
A 1.00 53, 200. 00 53, 200
IERERES
A 1.00 41, 500. 00 41, 500
WERER
A 1.50 31, 400. 00 47,100
HHH TERER
% 21.90 141, 800. 00 31, 054
= H YEZEREN - 7.30[= 25, 256. 00 184, 374
&5 :1-10
&% : P-SIRE GEL) 1H%Y (21.3m)
2 m 1B - R By B 1 i = % =
wrR—=yoo<s 5. SkW#k
H 1.00 11, 520. 00 11, 520|8H
WE AR
A 1.00 53, 200. 00 53, 200
IEHERES
A 1.00 41, 500. 00 41, 500
WERES
A 1.50 31, 400. 00 47,100
HH R TERER
% 3.00 141, 800. 00 4, 254
=) it 1E¥8EH - 21.30m 7,397.00 157,574




REKR-HEI/ \vr— BBEEERSETERE
2 1-11
&% BERE (BL) 1HHY (50m)
4 b3 1R - BARTR By = i ] B i &
K=<y 5. bkWik
=] 1.00 11, 520. 00 11, 520/8H
B A E HRER
A 2. 00 53, 200. 00 106, 400
FEMERES
A 1.00 41, 500. 00 41,500
hERES
A 2.00 31, 400. 00 62, 800
HEMH THEAER
% 3.00 210, 700. 00 6, 321
& i YE285 5 - 50. 00m 4,570. 00 228, 541
&5 :1-12
2 AL EVWABERGGEEET) n—42)—XZEE, #iEL - VL k 1834Y (4.2F)
% 5 1R - KTk B = fii £ B & &
R—)oo<oy 5. bkWHR
A 1.00 11, 520. 00 11, 520|8H
YoYU GFa—T ATV LARF—)LE
N 4.20 17, 000. 00 71, 400
& A& HEh
A 1.00 53, 200. 00 53, 200
FEMERES
A 1.00 41, 500. 00 41,500
MERESR
A 1.50 31, 400. 00 47,100
HMH TERER
% 12.60 141, 800. 00 17, 866
& E%8EH : 4. 20K 57, 758. 00 242, 586




R/ Sy — EREEEES LIRS
S 1-13
& YEHER B D)
% i B - BIKSTE B = B @ ] = i &
THFOEE
&l 33.00 6, 030. 00 198, 990
&KE
&l 33.00 1, 520. 00 50, 160
11 53 4 BEt
{& 13. 00 7,180.00 93, 340
FE ST it F
{& 20. 00 14, 400. 00 288, 000
RIERRS
{& 14. 00 7,620. 00 106, 680
BERSR
{& 14. 00 3, 690. 00 51, 660
REEE
{& 10. 00 4,210.00 42,100
& B EZERES - 1. 00 830, 930. 00 830, 930
&S :1-14
%ﬂ‘: ﬁ#gﬁgﬁ «]ﬁ% L)
% L B - BT BAr = B & ] m = ik =
—EhEHEER 3/4)
#A 16. 00 19, 000. 00 304, 000
8 5 EfER R [E#&IEHEK
#A 10. 00 24, 600. 00 246, 000
EZHER REARAK
{& 10. 00 53, 700. 00 537, 000
& i EZERES - 1. 00K 1, 087, 000. 00 , 087, 000




R &I/ \vr—2

EREEFEELERE

E5:1-15
2% MESERE (BERE) X5y
% L] R - KT B = B @ %8 W E g &
& RE AR
A 2.80 53, 200. 00 148, 960
FEMERES
A 2.10 41, 500. 00 87,150
hmERES
A 1.20 31, 400. 00 37, 680
= it YE¥HESD . 1.00R 273, 790. 00 2173, 790
&S . 1-16
&% EBEERR 1By
£ [ R - KT B = B {f £ W E w =
EBHRERE
=® 1.00 100, 000. 00 100, 000
& Hi 1EZRERN - 1.00 100, 000. 00 100, 000
&S 1-17
¥ BAHE HEED)
4 b R - KT B = B i £ W E H %
Hh B S E A
A 1.00 53, 200. 00 53, 200
FEHERES
A 0.50 41, 500. 00 20, 750
MmERES
A 0.50 31, 400. 00 15,700
& it 1E38ES - 1.00[H 89, 650. 00 89, 650




RER-FET/\vr— BBEEEEETERE
&5 :1-18
&% : hRAHE 1E4Y
2 7 1B - IR Bif B i i w = B =
WERERE
A 0.50 53, 200. 00 26, 600
IERERES
A 0.50 41, 500. 00 20, 750
= it YEZERES - 1.00[=] 47, 350. 00 47, 350
&5 :1-19
2 BRBE 1[E 4 Y
2 7 B - R B B 1 i i w =
WE AR
A 0.50 53, 200. 00 26, 600
IEHERES
A 0.50 41, 500. 00 20, 750
& it YEZERES - 1.00[=] 47, 350. 00 47, 350
&5 :1-20
2% ELBIERT — 2 R—AREE EE L)
2 7 1B - IR B B 1 i S % =
ELHBERT— 2 R—ABREE
= 1.00 2,000. 00 2,000
& it YEZEREN : 1.00K 2,000. 00 2,000
&5 1-21
2% BIRES -
2 7 1B - IR B B 1 i S % =
BIRAEE
=® 1.00 45, 000. 00 45, 000
=) it YEERES - 1.00= 45, 000. 00 45, 000




RER-FET/\vr— BBEEEEETERE

&ES:1-22
2% AEER 1By
£ L R - KT B B =2 B {f € ¥ W E g &
& RE AR
A 4.00 53, 200. 00 212, 800
FEMERES
A 3.50 41, 500. 00 145, 250
hmERES
A 2.00 31, 400. 00 62, 800
& it YE¥HESD . 1.00R 420, 850. 00 420, 850
&5 1-23
2% LERNECRL) 1HEY Gihm)
£ [ R - KT B B 2 B {f € ® W E w =
REBE 54 b\ 2L
H 1.00 3,546.00 3,546/2.00H / 8H
B FRP D 70PSZ!
H 1.00 77, 085. 00 77,085 |8H
Hh B S E A
A 1.00 53, 200. 00 53, 200
FEMBERES
A 1.00 41, 500. 00 41, 500
MmEREE
A 2.00 31, 400. 00 62, 800
MME 2E0%
% 0.50 238,131.00 1,190
& B 1EZBEA - 3. 004 79, 773.00 239, 321
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REKR-HEI/ \vr— RBRAEEESTERE
B2 1-24
B BRIGHEMEREK (R/\y FER) 154y
% b R - WAIRTE Bi{s1 = B i %8 = " &
B E A
A 2.00 53, 200. 00 106, 400
FEHERES
A 2.50 41, 500. 00 103, 750
hWERES
A 7.00 31, 400. 00 219, 800
STFL—ybL—r R A AR ER) CHEMHEY J8)50tMA
2] 3.00 72, 800. 00 218, 400 8H
MAE 2E0%
% 0.50 648, 350. 00 3, 241
& VEZEES - 1. 00& 651, 591. 00 651, 591
5 :1-25
EH: BIBHRE (RS FER) BE EGEL)
% b I - WAKTE B =1 B i ) B E 5 &
B 5ED 100PSE!
=] 1.00 136, 963. 00 136, 963|2. 00H / 8H
' S AT
A 1.00 53, 200. 00 53, 200
IEMERER
A 0.50 41, 500. 00 20, 750
WERES
A 2.00 31, 400. 00 62, 800
MM 2ERDY
% 0.50 273, 713. 00 1,368
& &t VEEEH - 1. 00BFR 275, 081. 00 275, 081
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RIEZ-FHET/Svr—2 EBEE SRS L ERE
FS : 1-26
L7 BIBHE Ry FER) B 167724 Y
% i s - RTE B B E # i " =
IEn $AD T00PSEL
B 1.00 136, 963. 00 136, 963/2. 00H / 8H
WE A A
A 1.00 53, 200. 00 53, 200
IEMERES
A 0.50 41,500. 00 20, 750
WERES
A 2.00 31,400.00 62, 800
wHH ZRO%
% 0.50 273, 713.00 1,368
& F YE£8ER - 1. 00RIFR 275, 081. 00 275, 081
2127
&% B (RS FER) ESD
% # B - KT B g R # i " =
=)
# 1.00 2, 490, 800. 00 2, 490, 800
& F fEaER - 1,002t 2, 490, 800. 00 2, 490, 800
£ 1-28
¥ M - SEE EL ESD)
% # s - RTE B g B # i " =
SR FRP D 70PSE 3.0t
B 28.00 74,758. 00 2,093, 224 8H
31 S4RRY A
B 28.00 3,546. 00 99, 288/2. 00H / H
HwHH 2HD%
% 0.50 2,192, 512.00 10, 962
& f fEBER : 1,002 2,203, 474. 00 2,203,474
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REKR-HEI/ \vr— BBEEERSETERE
£2:1-29
B BHER (X/3y FER)
% b R - WAIRTE Bi{s1 = il 25 = fis
STFL—ybL—r R A AR ER) CHEMHEY J8)50tMA
A 2.00 72, 800. 00 145, 600 8H
hWERES
A 4.00 31, 400. 00 125, 600
B E THEFEA
= 1.00 174, 000. 00 174, 000
MAE ¥EIEE D%
% 0.50 271, 200. 00 1,356
& % VEZEEH ¢ 1,00 446, 556. 00 446, 556
&5 :1-30
B EMERGGR—) Vo< Y)
% b I - WAKTE B =1 {ii ) B E fi
HJL—off b3 w5 HFE 2t
A 1.00 40, 118. 00 40, 118/5. 80H / 8H
MERESR
A 4.00 31, 400. 00 125, 600
MM BEEB DY
% 0.50 165, 718. 00 828
& 5 YE2EEH - 1. 00 166, 546. 00 166, 546
&5 : 1-31
2 EENER
% b & - WIRTE Bf1 = il ) W E fig
Hh B S E
A 1.00 53, 200. 00 53, 200
RBE SA kN2 2
A 1.00 6, 722. 00 6, 722/6. 00H / 8H
& 5 YEZEEH - 1,00 59, 922. 00 59, 922
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RER-FET/ 5 — EBAEFEAELIERE
55 :1-32
B KTEE - ZRTHEEE 14y
% L] g - BIRTiE ==Rivi #H 2 i %8 g &
S ER AT FE12, 14cd E-184, E-8HF!
=® 1.00 61,248.00 61,248
HERE EHEDY%
% 5.00 61,248.00 3,062
= it YE¥HESD . 1.00R 64, 310.00 64, 310
&5 :1-33
B KERBEH IEED
£ b3 B - BIKTE =-Fiv] B E fili ] w =
KEREH
=® 1.00 4,545.00 4,545
& Hi EZgEH : 1.00K 4.545. 00 4,545
EE . 1-34
&% EEREH IEED
% b R - KT BT H =2 i 2 H %
SERIEH
= 1.00 28, 636. 00 28, 636
& Hi 1EZRERN - 1.00 28, 636. 00 28, 636
£S5 :1-3H
&% RIEEE IEED
% b R - KT BT H =2 i 2 H %
EIEEE
= 1.00 50, 914.00 50,914
& it 1E%8ES - 1.00X 50, 914.00 50,914
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R &I/ \vr—2

EREEFEELERE

E5:1-36
2% BHEEHRE - RivAE X5y
% L] R - KT B = il %8 g &
HER (A)
A 0.60 57,000. 00 34, 200
HER (B)
A 0.60 47, 200. 00 28, 320
HER (C)
A 0.60 38, 400. 00 23,040
EXARE FEEDY)
% 1.50 85, 560. 00 1,283
= B YE¥HESD . 1.00R 86, 843. 00 86, 843
&5 1-37
B BREEBLYFE LSO BINER 14y
£ [ R - KT B = i £ w =
HEm (B)
A 0.70 47, 200. 00 33, 040
HEh (C)
A 0.70 38, 400. 00 26, 880
EBRARE FIEEDY
% 1.50 59, 920. 00 898
& Hi 1EZRERN - 1.00 60, 818. 00 60, 818
&S :1-38
£ BEREOER BITER 14y
4 b R - KT B = Ll £ H %
HER (B)
A 0.70 47, 200. 00 33, 040
HER (C)
A 0.70 38, 400. 00 26, 880
EXARE FHEEDY
% 3.00 59, 920. 00 1,797
& B 1E%8ES - 1.00X 61,717.00 61,717
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R &I/ \vr—2

EREEFEELERE

H5:1-39
2 REWGREN BRER X5y
% L] R - KT B = il %8 W E g &
EXEETACH))
A 2. 60 64, 800. 00 168, 480
HER (A)
A 2. 60 57,000. 00 148, 200
HER (B)
A 2. 60 47, 200. 00 122,720
HER (C)
A 4.60 38, 400. 00 176, 640
EXARE FEEDY)
% 1.00 616, 040. 00 6,160
= it YE¥HESD . 1.00R 622, 200. 00 622, 200
&S 1-40
B P-SERERE 18&Y (100m)
£ [ R - KT B = i £ W E w =
F{EHRAm GRED
A 3.00 64, 800. 00 194, 400
HEm (A)
A 2.50 57,000. 00 142, 500
HEh (C)
A 2.50 38, 400. 00 96, 000
i &
A 2.00 33, 600. 00 67,200
EBRARE FIEEDY
% 1.00 500, 100. 00 5, 001
& it 1EZ8EF : 100. 00m 5,051.00 505, 101
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RER-FET/\vr— BBEEEEETERE
&5 1-41
2 BERBRE 1H%Y (100m)
2 7 B - R Bif ¥ B B @ i w = B =
WERERE
A 3.00 53, 200. 00 159, 600
IERERES
A 1.50 41, 500. 00 62, 250
EBRmE FHEEDY
% 5.00 221, 850. 00 11,092
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